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l, (a)

1

Writc a short notes on any two :

(i) Share Warrant

(ii) Interim Dividend

(3)

(iii) Redemption of Debentures by conversion

(b) Application for 65,000 shares were received from public by Narsingh Co.,
Nagpur. Allotment of shares made as follows (Authorized shares 1,00,000

@ ilo):

(i) 100% shares to applicant of40,000 shares

(ii) 50% shares to applicanrs of20,000 shares

(iii) No allotment to applicants of 5,000 shares

A shareholder to whom 500 shares were allotted under category (a) paid full
amount due on shares along with allotment money. Another shareholder holding
1,000 shares failed to pay the amount due on call. His shares were forfeited
and 800 of shares were reissued as fully paid up (g per share. Face value
of shares are (10, calls: applications {3, allotment t4 (with premium), calls
14. Give the Journal Entries and prepare the Balance Sheet. (12)

OR

(a) Explain the meaning of Debentures issued as collateral securities by
a company. Give journal entries and show its treatment in the Balance
Sheet. (5)

(b) Show by means of Journal entries how will you record the following issues :

(D P Ltd. issues 5,000, 10% debentures ofRs. 100 each at discount of
5%, redeemable at the end of 5 years at par.

(ii) Q Ltd. issues 5,000, 11% debentures of Rs. 100 each at par,
redeemable at the end of 5 years at a premium of 5%o.

(2s000)
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(iii) R Ltd. issues 5,000, 12% debentures of Rs. 100 each at a discount

of 5%, redeemable at the end of 5 years at a premium of 5%.

(iv) S Ltd. issued 5,000, 12% Debentures ofRs. 100 each at Rs. 105 and

redeemable at Rs. 107'per de,benture. (10)

2, (a) The following balances appeared in the books ofABC Ltd as on 31.3.2023 :

Debit balances Rs CrBdit Balances Rs

Building at cost 1,50,000 Equity Share capital

(tully paid shares of

Rs,l0 each)

6,00,000

Purchases 5 00 900 General reserves 2,50,000

Salaries and wages 59 000 Unclaimed dividend 6,250

Repairs to building 26,810 Trade payables 36,880

Misc. Expanses 31,090 Sales 10,83,940

Machinery at cost 2,00,000 Provision for

depreciation

7l 000

30,000 lnterest on inr.estments 8,540

Fumitue at cost 5,000 Surplus in the statement

of profrt and loss

(1.4.2022\

16,840

Opening stock in

trade

1,72,050 Staff Provident fund 37.500

Trade receivables 2,23,380

lnvestment (long

term)

2,88,950

Advance payment of

tar(es

50,000

Cash balance 72,240

Director's fees 1,800

2t.11.220 2r.11.220

P.T.O.

Motor vehicle at cost
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From these balances and the following information, prepare the company's
balance sheet as on 31.3.2023 and its statement ofprofit and loss account
for the year ended on that date.

(i) Stock in trade as on 31.3.2023 was valued at Rs. 1,48,680

(ii) Provide Rs. 10,000 for depreciation in fixed assets, Rs. 1800 for
director's fees and Rs. 62,000. For the company's contribution to
staff provident fund.

(iii) Interest accrued on investments amounted to Rs. 2,750

(iv) A provision of Rs. 50,000 for taxes in respect of the profit for 2022-
23 is consid6red necessary,

(v) The board of direbtors propose a final dividend @ B% and transfer to
general reserve Rs. 30000 after the balance sheet date.

(vi) A claim of Rs. 2500 for workmen's compensation is being disputed by
the company

(vii) Authorised capital is 80000 equity share ofRs. l0 each. The company
had issued 60000 shares of Rs.10 each (18)

(b) The following information is obtained from the books ofAB Ltd. for the year
ending 31"' March, 2023 and 2022

31-!2023 (in Rs.) 31-32022 (in Rs.)

SaIes 60,00,000 48,00.000

Opening invefiory 7,00,000 9,00,000

Purchases 30,00,000 22,00,0N

Closing inventory 80,00,000 7,00,000

Compute the inventory turnover ratio of the two years and average holding
period. Analyse and interpret the results, take 360 days in an year. (6)

OR
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(a)

5

Write difference between in any 3 of the following :

(i) Annual report and financial statement

(3+3+3)

(ii) Income statement and cash flow statement

(iii) Interim dividend and final dividend

(iv) AS- 18 'Related party disclosure' and Ind AS 24 'Related party

disclosure'

(b) The following is the summarized balance sheet of ABC Limited as on

31.3.2022 and 31.3.2023

9,00,000

4,32,000

8,00,000

3,62,000

3

r,50,000

5,53,000 2,15,000

55 000

19,40,000

As on
313.2U22
(Rs.)

Particulars Note
no.

As on
313.m23
(Rs.)

Equity and liabilities

l.Share holder's flmds

a- Share Capital

b. Reserves aad surplus

2. Non current liabilities

a. l.ong tgfm borrowings

3. Current liabilities

a Short term bonowing

b. Trade pryables

c. Other cwrmt liabilities

d. Short term provision

Total

I

lFrsm

55,000

P.T.O.

I

2
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II

l. Non current assets

a" Property pldrt and equipn:€{t

b. Non current Investn€nts

2. Cun€nt Bssets

a. lnventories

b. Trade receivables

c. Cash md Cash equivalent

d. Other current asse8

Total

Assets

4

5

10,75,000

36,000

4,25,N0

3,80,000

24,N0

6,66,000

1,78,000

Notes to accounts

Particulars As on
3r.3.2023
(Rs.)

As on
31.3.2022
(Rs.)

1. Reserves and surplus:
Securities premium
Surplus in the staternent of profit and loss

2. Long term borrowing
I 1 % debentures

3. Short term provision:
Provision for tax

4. Property plant and equipment :

Machinery
Zess: accumulated depreciation

5. Other current assets:
Prepaid o<penses

20,000
4,12,000 3,62,000
4,32,00.) 3,62,000

55,000

13,35,000
(2,60,000)

1,50,000

55,000

9,10,000
(2,44,OO0)

10,75,000 6,66,000

15 000

tr/qood

405,000

2,78,000

40,000

15,000

Ir5,8Zood
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Additional information :

(i) The company paid an interim dividend of Rs.80,000

(ii) Purchase a new machinery costing Rs.5,00,000

J

(iii) Disposed of a fully depreciated machinery having original cost of
Rs.75,000 and no salvage value

(iv) New shares were issued during the year at the premium of20%

(v) Debentures were redeemed on 1 .4.2022

(a) Explain the meaning of Economic Value Added and how it is calculated,

illustrate with an example. (06)

O) XYZ Ltd proposed to purchase the business carried on byABC co. Goodwill

for this purpose is agreed to be valudd at two years purchase of the weighted

average profits ofthe past three years. The approximate weights to be used

and profits are :

Year Amount

2020-21 i 12,40,000

20?l-22 2 10 00 000

2022-23 3 t4 00 000

,i.t CCt-t€

g
d.
*

*

ew Deih
On scrutiny of accounts the following matters are revealed

(i) On 3l st December 2021 a major repair was made in respect of the

plant incurring Rs. 50000 which was charged to revenue. The said sum

is agreed to be capitalised for goodwill calculations subject to

adjustment of depreciation of 10% per annum on reducing balance

method.

P.T.O.

You are required to prepare cash flow statement as per AS-3 (revised with

working notes) ( 15)

Weights
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(ii) The closing stock for the year 2020-21 was overvalued by Rs. 15000.

(iii) To cover management cost an annual charge of Rs.25,000 should be

made for the purpose of goodwill valuation against the profits of all

three years.

Compute the value of goodwill of the firm. ( l2)

OR

(a) Explain the three methods of Brand valuation (6)

(b) Following particulars are available in relation to a company:

(i) Equity share capital: 20,000 equity shares of Rs.l0 each, fully paid.

(ii) Preference share capital: 2,000, 12% Preference shares of Rs.100

each fully paid.

(iii) Reserves and surplus: Rs 30,000

(iv) Externat liabilities: creditors Rs.24,000, bills payable Rs.12,000.

(v) Average normal profit after tax earned each year by the company

Rs.57,000.

(vi) Transferred to general reserve from surplus in the statement ofprofit

and loss: Rs. l0% of profit after tax.

Assets of the company include one fictitious item of Rs.1,600. The normal

rate ofreturn of the equity shares of this type ofcompany is l0%, ignore

goodwill.
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Compute the value of the equity share of the company as per

(i) Intrinsic value method

(ii) Yield method

(iii) Fair value method

4. (a) The Balance Sheet of Gaurav Ltd. As at 3l"t march,2022'.

(12)

Amount (t)Particulars

Shareholder's funds:

00 000550000 Equity Shares of {10 each

Reserve and surplus:

00055General reserve

35,000StatementofP&L

00025Workmen's Accident Compensation Reserve

Current Liabilites:

80 000Trade payables

6p5,000Total

Amount (t)Particulars

Fixed assets:

Tangible assets:

1,00,000Land and Building

2,20,000Plant and Machinery

P,T.O.

Equity and liabilities

Non-current assets:

Intangible assets:
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Gaurav Ltd. is purchased by Rajul Ltd., which pays (6,00,000 in fully paid

shares (10 each and the balance t1,00,000 in cash. There was a contingent

liability in respect of a claim for compensation under the Workmen's

Compeasation Act. The claim was not taken by Rajul Ltd. and Gaurav Ltd.

had to pay ultimately a sum of ? 10,000 against the claim.

The Balance Sheet of Rajul Ltd. at 3 1" march, 2022 was as following :

Patent 7,500

Trademark 7,500

Goodwill 95 000

Current assets:

Inventories 1,05,000

Trade Receivables 90 000

(less: Provision for bad and doubtftrl debts)6,000 84 000

Cash & Cash Equivalents 66,000

Other non-currrcnt assets:

Unamortised Preliminary Expenses 00010

Total 6p5,000

Particulars Amount (Q

Equity and liabilities

Shareholder's funds:

1,00,000 Equity Shares of tlO each 10,00,000

Reserve and surplus:

General rserve 1,00,000

StaternentofP&L 50 000



Non-currtnt liabilities:

1,75,000l07o Debentues

Current Liabilities:

05 000ITrade payables

14,30,finTotal

Amount C{)Particulars

Non-currcnt asseB:

Fixed assets:

3,00,000Land and Building

4,00,000Plant and Machinery

Inlrrgiblc asseh:

Goodwill

Current assets:

2.50,000Inventories

1,50,000Trade Receivables

2,20,NOCash & Cash Equivalens

14;o,(moTotal

3666 1t

The expenses of liquidation of Gaurav Ltd. <5,000

(i) Prepare the important ledger accounts in the books of Gaurav Ltd.

(ii) You are also required to pass the necessary journal entries in the

books of Rajul Ltd.

(iii) Prepare the Balance Sheet after the amaigamation in the nature of
purchase has been completed (18)

coLtE
J

OR

*

'ew Deiht'
P.T.O

Tangible assets:

1,10,000
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(a)

t2

The Ledger balances ofX Co. Ltd. as on 3lst March, 2023 are -

Due to heavy losses, the following scheme of reconstruction is agreed :

(i) To make the existing Rs. 100 lquity shares fully paid up and then to
reduce them to Rs. 20 each;

(ii) To settle the claims of first debenture holders by issuing Z,OOO, 13.5%

debentures of Rs. 100 each;

(iii) To discharge the claims of the second debenture holders by issuing
15% 4,000 debentures of Rs. 100 each;

(iv) To pay Rs. 3,00,000 to Mr. Y in full settlement of his account;

(v) To allot 15,000 fresh equity shares of Rs. 20 each to discharge the
remaining trade creditors;

(vi) Stock is to be increased, by Rs. 10,000;

Particulars Amount (Rs.)

Property. plant and equipment 7,00,000

Investments 10,000

Stock and Debtors 8.20,000

Bank Balance 30,000

Defened Revenue Expenditue Account 20 000

Equity share Capital (60% pard) 6,00,000

l0% First Debentures 2,00,000

12% Second Debentures 5,00,000

Bank overdraft 50 000

Trade Creditors (including Y for Rs. 8,50,000) I 1,50,000

Outstar.rding interest for one year on both types of debentures 80,000

(vii) Cost of reconstruction Rs. 10,000;
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(viii) To write off the fictitious assets and to reduce the fixed assets by
Rs. 5,00,000 to give effect to the above scheme of reconstruction.

You are required to pass the necessaryjoumal entries, Prepare reconstruction
account and calculate balance ofprofit & loss account. (12)

@) What do you mean by amalgamation in the nature of merger and nature of
purchase? What is the difference between the two? (6)

5. (a) Write note on the following :

(i) Board's report

(ii) Corporate financial reporting

(iiD AS- 1 7 'Segment reporting' (5+5+5)

OR

(a) Write notes on the following :

(i) Triple bottom line reporting

(ii) Corporate Social Responsibility reporting

(iiD XBRL reporting (s+5+5)

l. (o) fr*icrd*cftqfrftfrq: (s)

(i) tq( snd

Gi) irdR{ fiFnsr *

D

coL

(iiD {qrfior Enr R+q( ml i-d{

P.T.O.
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(iH) :rrfraffi,cmg(dtr{drt os,ooo ffi*ftrs ertqrn<Eqt ffiffi srra
ffrr{rg{R frqt Tcr (qeEil iqt tto vfr * tpo,ooo) :

(i) 4o,ooo Acd + flGffi d roo% frzn

(ii) 2o,ooo iqt + ilH d sov" i+t

(iiD s,ooo m + flrM- d ot$ ilr+{ T&

v*' +{iun6, ftr+ iff (c-) * wtrte soo *rt urfra fts w +, + rtr*:{nRI
* qM iqt'R +q tt nRr ar grnm frznr r,ooo trn re* qrflr Vq. m tqiqr<tf'

eia yi *c {Rr 6r nrnn q..dfr Rw-o rrrr s+S *m u< q( Rs w *t <a cR

irt fr rt t gtt rrrfl 800 *at 5t: utt frv rrgr ffi ql ffi-c 1a 116, *'(t:
sr+fi ts, srqcr ta (fiftw * ur), qta ta *r u+fi vEM vrfrt fifrs flk
i*( $-r iqn dRsr (tz)

Si9TAT

(c,) ffi otrft anr ffi{m vftffi * qq t ilt frs w Rilqt qrcE sq dfrvt
sfr nfrM crRd dfrs *t+fu fi-c i ssq'r srqn E{lksr (s)

(e) wda efrfi-d + qrqq t EqtEc tu flq ffikd M d $$ i;$ ati:

(i) P Ltd. s% 6 qr w rco wt vR * s,ooo, m% €+q( q6 trr&
t, til s s{ + inil { {$I€ qr cHq tl

(ii) Q Ltd. * roo wt cR t{{ * spoo, n% G+{r rsfl[iq R utt fts,
isq{tq-d+s%ffRfi'r(rHq*r

(iiD R Ltd. i sx g cr roo \c+ vh *{t * s,ooo, 12% €+fi trIt fts,
*ss{+t'd+s%fffrccqtqHqlr

(iv) s Ltd. i roo tqt cft +ct * s,ooo, 12% E{ilt tos tqi Yt EIt
frs nqr v] roz wi yR EdrR cr ffiq fi (ro)
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2 (t.) 3r.3.2023 fr R{R * rgn ABC Ltd. + c& lrt+ { ffifrat qorqr ic {Rr
qniE rr{ *:

gP+ecorrn*s E. tBeqo,ficlc E

slrtf,{ilq{qzH 1,50,000

gE-E{IrR{'Stro
oq{cft}-fufu c-fi
sqo

6,00,000

s0-{ 5,00,900 qrqrr[ B{RlSdfrf-E 2 50 000

a-droinc-q-{s 3,59,000 .:rqrfioF{rsr 6,250

llq{o1qtq.d 26.8rO qrqRtq 36 880

frfrqqq 31 090 M 10,83,940

oFTd{-qIrt
ceffi 2,00,000 qno-6r'ufuft<urourt 71,000

qFrd*qlrt*d{
firo 30 000 BMwqrq 8,540

qFfd{rqrn
E-{fu{

5 000
f,rqBhtErHlffiqfr
qfNq(r.a.zozz) 16,840

qrqnorsr{Fr6
d#r 1,72,050 otrdrfiqEEqftft 37,500

qrqngrcqqrRr 2,23,380

frAqrcdt'orFco 2,88,950

qt{6rs{frqUIrdH 50,000

;6-q65rqt*V 72 240

Be"{-o.otetq I 800

21.1t220 21.11.220

rlfuffird ftffike qq-{r*t, sr.s.zozs *ffi+ rgmmffid**r
fl-c at vs ilt€ d <qrq Ec s{ * ftq mT str Erft Ert 6r ft-{rur *qn dfrer

(i) 3r.3.2023 d qrqn + d+' cl {e r,ae,eao w} qr

P.T.O.
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(ii) ffifi frft+ + tsu( + frs ro,ooo wt, fiirrc' fr fr{ + fu raoo

w+ ft ez,ooo ort 6{qrt qBq frA + frffi t q}rraT * frs Jrdtq

fus rtsr

1i4 RM vt sffia ar\rr 2,750 rlt qrr

0v) c{ 2022-2s * anr + ffi d q't tE sopoo wg rfi crrsm if,rs{T6'

qr<r rrqt ir

(v) fttrro rso t s"A * qr + srR{ arqm <qr *tr fl-c * Rfu +
qrc 3o,oo0 wt qmq srikd frE + sflR'fi q'd qr yers r€r il

(vi) ryR6] * guni * fts zsoo w+ + <A rR qtr+ zr<r fa-emE fuqr

mta*r

lvli; irF5o iS to wt nR ++t * eoooo Effi ior *r qffi } ro tc}
ch +{r * ooooo iut urt fts tr (re)

(q) ffifur vmft sr rni, 2s23 alt zozz d qflR gq r{ * frs AB Ltd. t
+€r cfr t yr.a 6 rn t

sr-rzozr 6o.t1 3r-!2022 (5. fr)

ffi 60,00,000 48.00,000

;nttmqa-g 7,00,000 9,00,000

sffi 30,00,000 22,O0,000

oifdc'EA-{ 80,00,000 7,00,000

a sfr + s+fr t:4#dt q.nr ft qt{d utftdr s-{E d rrvrqT frFdgr fud q-I

ffiqq ilt{ qrsr dfrs, \q. q{ i soo F{frfrqr (c)

EI2T'IT
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(a) ffiftr { + B-d tfta I rm eq dfrqr (s+s+s)

O qtmo. ftqtd *r frftq R-{rur

(ii) ilrq ft-{rq dr r-*-fr uqr6 ft-{rur

(iii) qrdRfi atqtn *r Jfr{ ffi{rsr

(iv) AS-18 'rft-e ctr qir n6-&6lq' *( Enffi AS 24 'qfr( c8 qr

vm,&orur'

(re) ffiftiT ABC Ltd.. * sls.zozz *r sr.s.zozs d R{R + sq<n rft< *}r
fi-ct

F-qtur +cr 31.3.2023

o1(r)
3r3.2022

si (r.)
I Effiftiqarq

r. ftnarcq,'frfu

6'. +{ite
q. aRfudfffu *i sms

z. ft-aqN
q'.ffisrm

s. uqfu
q. wsrsfrssr

e. qqntq

rr. rawqfu
q. ffans&crssrr

'1

2

3

9,00,000

4,32,000

5,53,000

55,000

8,00,000

3,62,000

't,50,000

2,',t5,000

55,000

Ea 19,40,000 r5,82,000

P.T.O.
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iI srRilqr

r. ft-qrq aftrqr

q'. nqft, rq-* gti 3!ffiTol

c. rk-vrqfrfu

z. qr( wRrqt

a.rifr
rEL ErqR cltq {Rr

.r tr6-{ ilk "ffiq TcilFT

q. rq srq iflM

4

5

10,75,000

36,000

4,25,000

s,80,000

24,O00

6,66,000

r,78p00

4,05,000

2,78,000

40,000

15,000

IE-n
'r9,40,000 I5,82,000

+€r$'td& ftsM

fufiq sr.r.zoB ?d
C€.)

sr.t.mzzdl
(6',.)

1 qRfkdfrBotnoflq$q
sfdr{frflfrqc
dn+GtR€rBff{tqfrotft*q

z dqfqlqcErc
rr xE",iftft

r. srgrqftgrqqH,
oq*'ftecrfirH

4 €'qR, Tiri, B{tr Brrr{q
q{f{S

scTqiiBd{s6rs

5 erqqr(oflfrqi:
ffinwu

20,000
4,12,000 3,62,N0
4,32,000 3,62,000

55.000

13,35,000
(2,60,ooo)

1,50,000

55,000

9,10,000
(2,44,000)

10,75,000 6,66,000

15,000
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BrRRffi iilFrfir0:

(i) 6rr$ i oo,ooo wt qr sr<Rq ilqT{r Rcrr

(iD spo,ooo {q+ d drrrd'srft nS qftqt ret& rr€r

(iiD \ro {de, {.€EIR( qsm 6I Rrd;r frqr rrqr ftTqt {r irFrir 7s,ooo

wt * aqr fr{ql +€ rqRnq q.iir rr& qrr

(ig s{ + *irl zox ffiqq vt c+ +{i wt fts wr

(v) 1.4.2022 d ffi q,r clfi fr-q rrqrt

ilT6) as-: (sffi{r +S * <m <frfur) * rgun ro.fi l-qr6 frsr"r +cR

dFqsr (rs)

(c. ) vnFto qa rM;T 6r u{ sre dRs ilm wd rror* ftr rcn d Erft *, vsr6{ur

tF{ HE dfrsr (o)

(€) xYZ Ltd + ABC qffi er<r ddrc cr € qq<rc d cH sir rRr{ iKr il g€

strq + ftg TsAa 6r Tsrc-{ ftsr& ft{ sfr + qrfu stm am * + s'f * GA-{

6 flmR Ti 6i+ w mrR g{ il sr*rr frs fi+ sre rgnftr un ak ilq E{ y-fiR

t:

r{li[

2020-21 1 12.40.000

2021-22 2 10,00,000

2022-23 -l 14,00,000

3.

P.T.O.

s{ qTtIRT
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rsr& * urq c'dc( ftccRfudqril{H} ff€

(i) 3r Hqr zozr d r+* t Wr grfi rrst rREkr st{ friar qet, ftt qt

soooo tG qr u{ ilrqr, ftrt nirs qt cqtRil Ea'q rrqr sm tr+ttfit

d gsFd fr rrur<r * fts Efi-f-d q-d qt {Eqfr gS i, * qq A+
qo,qr is qaft qt ro% cfr s{ * {.qar€ + <qr+tr{ * sti-q *r

(ii) s{ 2020-2r * fts BrRq d+. Er {s rsooo w} uftqFu-r urr

(iii) n-srn arm ei o-+t ot* + fts fl+- ssT * drq + fu-d Usfud {f,rfi{
+ stsq t zs,ooo tqi m qrffio' {m. rrqrqr orn qBgr

qffi+{sfupdrIUHr*Rqr (rz )
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